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AlIDayABA Mock Questions: Section B

Name: Date:

Directions: Read each question carefully and circle the best answer.

B1-Q1
A dog is a living organism. If it gets fleas, it scratches itself. Scratching alters the environment
the dog lives in. Scratching is a(n)...
a. Punisher
b. Generalizer
c. Response class
d. Behavior

B1-Q2
A specific occurrence of a behavior is known as a what?
a. Reinforcer
b. Response
c. Consequence

d. Punisher

B1-Q3
Ripping up paper to avoid working on homework and laying on the ground to avoid working on
homework are part of the same:
a. Stimulus class
b. Reinforcement class
c. Response class
d. Punishment class

B2-Q1
A change in energy which has an effect on one or more of the senses of a living creature is
known as a what?
a. Response
b. Behavior
c. Motivator
d. Stimulus

B2-Q2
Knives, forks, and spoons all share the commonality of moving food around. Utensils would be
a

Stimulus class
Motivating operation
Response class
Conditioned reinforcer

ap oo
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B3-Q1
Pavlov's dogs salivating at the sound of a bell demonstrates what type of conditioning?
a. Respondent conditioning
b. Neutral conditioning
c. Operant conditioning
d. Transformative conditioning

B3-Q2
Brian is working to increase his number of steps he takes each day. His wife rewards him with
a piece of chocolate after every 10,000 steps. This demonstrates...
a. Operant conditioning
b. Respondent conditioning
c. Unconditioned stimuli
d. Conditioned punishment

B4-Q1
Giving your dog a treat to increase the frequency that he will urinate outside is an example of
what?
Positive punishment
Positive reinforcement
Negative punishment
Negative reinforcement

Qap oo

B4-Q2
| have a headache, so | take a pain reliever. The headache goes away. In the future, | am more
likely to take a pain reliever again when | feel a headache. What does the pain reliever serve as?
a. Positive punishment
b. Positive reinforcement
c. Negative punishment
d. Negative reinforcement

B5-Q1
Every two weeks, Suzanne receives a paycheck for the work she does at her company. This is
an example of what schedule of reinforcement?
a. Fixed ratio
b. Concurrent
c. Progressive
d. Fixed interval

B5-Q2
Jeanie gives her daughter $10 for every 10 times that she does the dishes. What schedule of
reinforcement is this?
a. Variable ratio
b. Variable interval
c. Fixed interval
d. Fixed ratio
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B5-Q3
A sea lion is given a treat after an average of 3 minutes remaining on a mat to improve
veterinary care. On which schedule of reinforcement is the sea lion?
a. Variable interval
b. Tandem
c. Extinction
d. Fixed ratio

B5-Q4
Slot machines are an example of what type of schedule of reinforcement?
a. Fixed interval
b. Extinction
c. Variable ratio
d. Social

B5-Q5
A math teacher lets the class have a break after they complete 5 class-wide questions or 15
minutes have passed, whichever comes first. This is what kind of reinforcement schedule?
a. Fixed ratio
b. Alternative
c. Chained
d. Progressive

B5-Q6
Chained, mixed, and tandem are all types of what schedule of reinforcement?
a. Motivating
b. Singular
c. Compound
d. Variable ratio

B5-Q7
Which schedule of reinforcement has two or more contingencies acting simultaneously or
independently for two or more behaviors?
a. Alternative
b. Chained
c. Progressive
d. Concurrent

B5-Q8
Ellie gets to put a sticker on her potty chart after she uses the restroom at least 3 times during
the day and stays dry for at least 5 hours. Identify the schedule of reinforcement in effect.
a. Conjunctive
b. Fixed interval
c. Fixed ratio
d. Alternative
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B5-Q9
What schedule involves withholding reinforcement in the presence of a particular behavior with
the goal of eliminating the behavior altogether?
Multiple
Extinction
Conjunctive
Mixed

Qo oo

B5-Q1

When you bake brownies, you must complete the steps in order and be successful in doing
them in order to be able to eat them at the end. This demonstrates which schedule of reinforcement?
Fixed interval
Chained
Fixed ratio
Compound

Qoo

B5-Q11
A researcher is running an experiment on the effect of a randomly implemented FR3/VR7
schedule of reinforcement on a rat’s lever-pushing behavior. What type of schedule is this?
a. Progressive
b. Extinction
c. Mixed
d. Unconditioned

B5-Q12
A doctor is on call for the weekend and is on two unique reinforcement schedules based on
location (home vs. work). Which schedule of reinforcement is the doctor on?
a. Tandem
b. Multiple
c. Chained
d. Variable ratio

B5-Q13
Under which schedule of reinforcement is reinforcement thinned systematically after each
presentation of reinforcement regardless of the individual's response(s) / behavior(s)?
a. Discriminative
b. Progressive
c. Chained
d. Concurrent

B5-Q14
In the movie Gravity, Sandra Bullock completes a variety of tasks to get to safety without
knowing if or when she will make it to safety. This follows which schedule of reinforcement?
a. Discriminative
b. Tandem
c. Conjunctive
d. Chained
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B5-Q15
Which type of reinforcement schedule involves a "signal" that a particular schedule is in effect?
a. Fixed
b. Nondiscriminative
c. Variable
d. Discriminative

B5-Q16
If researchers keep the schedule of reinforcement that is currently in effect a secret (i.e. there
is no "signal"), which type of schedule are they using?
a. Ratio
b. Discriminative
c. Nondiscriminative
d. Interval

B6-Q1
The addition of a stimulus which decreases the likelihood that a behavior will occur again in the
future is known as...
a. Negative reinforcement
b. Negative punishment
c. Positive reinforcement
d. Positive punishment

B6-Q2
Sally's mom grounds her from going to a party due to her skipping class. Getting grounded is a
form of what?
a. Negative reinforcement
b. Negative punishment
c. Positive reinforcement
d. Positive punishment

B7-Q1
If reinforcement is not mediated by another person then it is what type of reinforcement?
a. Socially mediated
b. Automatic
c. Discriminative
d. Nondiscriminative
B7-Q2

If reinforcement is mediated by another person then it is what type of reinforcement?
a. Socially mediated
b. Automatic
c. Discriminative
d. Nondiscriminative
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Food, water, and sleep are all examples of what?
Automatic reinforcers

Socially mediated reinforcers

Conditioned reinforcers

Unconditioned reinforcers

Qap oo

B8-Q2
Miranda finds reading a book relaxing. She has learned that over time. What category do
books fit in for her?
a. Unconditioned reinforcer
b. Conditioned reinforcer
c. Generalized reinforcer
d. Social reinforcer

B8-Q3
Money has become a reinforcer in society. It has a history of being paired with food, water, fun
activities, gifts, and more. It is a..
a. Generalized reinforcer
b. Unconditioned reinforcer
c. Socially mediated reinforcer
d. Conditioned reinforcer
B8-Q4
Titus gets stung by a bee while playing in a field. He is less likely to play in that field now. The
pain from getting stung is a(n)...
a. Unconditioned reinforcer
b. Conditioned reinforcer
c. Unconditioned punisher
d. Conditioned punisher

B8-Q5
A stimulus that acts as punishment because of an individual's learning history is a what?
a. Unconditioned punisher
b. Conditioned punisher
c. Automatic punisher
d. Generalized punisher

B8-Q6
When Kayla was in first grade, she disliked the behavior management "stoplight" in the

classroom because it was paired with loss of recess, notes home, and other consequences. The
stoplight served as a(n)...

a. Unconditioned punisher

b. Conditioned punisher

c. Automatic punisher

d. Generalized punisher
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B9-Q1
Which process decreases a behavior entirely by withholding reinforcement in the presence of
that behavior?
a. Operant extinction
b. Automatic extinction
c. Generalized extinction
d. Respondent extinction

B10-Q1
What occurs when a response is affected by the presence or absence of a stimulus?
a. Stimulus control
b. Response control
c. Functional relation
d. Motivating relation

B11-Q1
Kennedy can identify the color orange when presented with an array of ten colors. She has
demonstrated...
a. Discrimination
b. Discernment
c. Decipherment
d. Decryption

B11-Q2
Bobby learned how to use a cash register at his first job. He continues to be able to use the
cash register at his second one. What is this an example of?
a. Stimulus control
b. Generalization
c. Discrimination
d. Reinforcement

B11-Q3
When researchers come back and check whether the effect on the dependent variable has
lasted even after an intervention is withdrawn, they are assessing:
a. Continuance
b. Maintenance
c. Multiple exemplars
d. Motivation

B12-Q1
Level of thirst will increase or decrease the effectiveness of water as a reinforcer; therefore,
thirst is an example of a what?
a. Discriminative stimulus
b. Motivating operation
c. Contingency
d. Continuous behavior
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B12-Q2
Feeling lonely will increase the effectiveness of social interactions as a reinforcer. Feeling
lonely is an example of a(n)...
a. Reinforcing operation
b. Establishing operation
c. Increasing operation
d. Abolishing operation

B-12Q3
Dale ate several bags of mini M&Ms before a trivia night. M&Ms will no longer be as effective
of a reinforcer for him. In this instance, feeling full is a(n)...
a. Abolishing operation
b. Establishing operation
c. Punishing operation
d. Functional operation

B12-Q4
Sleep, pain, food, and water are all examples of what?
a. CMO
b. AO
c. UMO
d. EO

B12-Q5
This is a type of motivating operation with a value-altering effect that occurs because of a
learning history:
a. UMO
b. EO
c. CMO
d. AO

B12-Q6
Your toilet will not flush which makes finding a plunger more reinforcing. Which option best
describes this scenario?
a. SD
b. CMO-T
c. FR1
d. AO

B12-Q7
Seeing the temperature on your weather app alters the reinforcing value of different types of
clothing. This demonstrates...
a. CMO-S
b. EO
c. UMO
d. VR1
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B12-Q8
Which option best describes the following scenario: My cat hides away when he sees the pet
carrier come out because he associates it with going to the vet.
a. AO
b. Punishment
c. CMO-R
d. CMO-T

B13-Q1
You have been taught that if you steal a cute pair of shoes from your favorite store, you will be
faced with jail time and/or a fine. What is this called?
a. Contingency-shaped behavior
b. Motivating operation
c. Derived stimulus relation
d. Rule-governed behavior

B13-Q2
As a toddler, you poked an ant hill. You then received a painful bite from one of the ants. You
now no longer poke ant hills. What is this called?
a. Contingency-shaped behavior
b. Motivating operation
c. Derived stimulus relation
d. Rule-governed behavior

B14-Q1
Units of verbal behavior which functionally relate responses to the variables that control them
are known as...
a. Verbal operants
b. Operational definitions
c. Motivating operations
d. Consequence operants

B14-Q2
This is any behavior that is reinforced by another individual's behavior.
a. Rule-governed behavior
b. Verbal behavior
c. Behavioral consequences
d. Positive reinforcement

B14-Q3
"What time is the movie?" is an example of a for information.
a. Function
b. Transcription
c. Tact
d. Mand
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B14-Q4
A child is looking out the window of a vehicle and says, "There is the St. Louis Arch!" Their
mother then says, "Sure is." Which verbal operant is demonstrated?
a. Echoic
b. Tact
c. Textual
d. Mand

B14-Q5
| sing, "Mary had a..." and my daughter finishes with, "Little lamb." This would be an example
of:
a. Intraverbal
b. Echoic
c. Transitivity
d. Copying a text

B14-Q6
A speech-language pathologist tells a learner, "Show me the dog." The learner says, "Show
me the dog." Which of the following verbal operants has occurred?
a. Tact
b. Transcription
c. Echoic
d. Intraverbal

B14-Q7
A professor asks a student in the front row to read a particular paragraph from the textbook.
The student does as requested. The student has engaged in what type of behavior?
a. Intraverbal
b. Textual
c. Copying a text
d. Transcription

B14-Q8
A kindergarten teacher has her students complete weekly spelling tests in which she reads
aloud a set of words and has the students write down what they hear. Which verbal operant is this?
a. Transcription
b. Mand
c. Copying a text
d. Tact

B14-Q9
What is a type of echoic behavior that involves writing down what is read?
a. Copying a text
b. Stimulus relation
c. Functional equivalence
d. Intraverbal
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B15-Q1
Transitivity, symmetry, and reflexivity are all examples of what?
a. Stimulus classes
b. Verbal operants
c. Response classes
d. Derived stimulus relations

B15-Q2
Correctly responding to stimulus-stimulus relations that have not been trained or reinforced is
known as

Echoing
Latency
Reversal design
Equivalence

Qoo

B15-Q3
lan is taught to match a picture of a German shepherd to the word "dog". He then is taught to

match the word "dog" to a picture of a pug. lan then successfully matches the pictures of both breeds
together without any teaching. What is this called?

a. Reflexivity

b. Symmetry

c. Transitivity

d. None of the above

B15-Q4
A preschool-aged child has duplicated number flashcards laid out in front of them. They start

matching them together even though they have never been taught how to do this. This child has
demonstrated...

a. Reflexivity

b. Symmetry

c. Transitivity

d. None of the above

B15-Q5
A kindergarten student is taught to match the numerical form of "1" with the word "one". Later
in the day, the match the word "one" with the numerical "1". They have engaged in
a. Reflexivity
b. Symmetry
c. Transitivity
d. None of the above
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AlIDayABA Mock Questions: ANSWER KEY Section B

Name: Date:

Directions: Read each question carefully and circle the best answer.

B1-Q1
A dog is a living organism. If it gets fleas, it scratches itself. Scratching alters the environment
the dog lives in. Scratching is a(n)...
a. Punisher
b. Generalizer
c. Response class
d. Behavior

B1-Q2
A specific occurrence of a behavior is known as a what?
a. Reinforcer
b. Response
c. Consequence

d. Punisher

B1-Q3
Ripping up paper to avoid working on homework and laying on the ground to avoid working on
homework are part of the same:
a. Stimulus class
b. Reinforcement class
c. Response class
d. Punishment class

B2-Q1
A change in energy which has an effect on one or more of the senses of a living creature is
known as a what?
a. Response
b. Behavior
c. Motivator
d. Stimulus

B2-Q2
Knives, forks, and spoons all share the commonality of moving food around. Utensils would be
a

Stimulus class
Motivating operation
Response class
Conditioned reinforcer

Qapop
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B3-Q1
Pavlov's dogs salivating at the sound of a bell demonstrates what type of conditioning?
a. Respondent conditioning
b. Neutral conditioning
c. Operant conditioning
d. Transformative conditioning

B3-Q2
Brian is working to increase his number of steps he takes each day. His wife rewards him with
a piece of chocolate after every 10,000 steps. This demonstrates...
a. Operant conditioning
b. Respondent conditioning
c. Unconditioned stimuli
d. Conditioned punishment

B4-Q1
Giving your dog a treat to increase the frequency that he will urinate outside is an example of
what?
Positive punishment
Positive reinforcement
Negative punishment
Negative reinforcement

Qo oo

B4-Q2
| have a headache, so | take a pain reliever. The headache goes away. In the future, | am more
likely to take a pain reliever again when | feel a headache. What does the pain reliever serve as?
a. Positive punishment
b. Positive reinforcement
c. Negative punishment
d. Negative reinforcement

B5-Q1
Every two weeks, Suzanne receives a paycheck for the work she does at her company. This is
an example of what schedule of reinforcement?
a. Fixed ratio
b. Concurrent
c. Progressive
d. Fixed interval

B5-Q2
Jeanie gives her daughter $10 for every 10 times that she does the dishes. What schedule of
reinforcement is this?
a. Variable ratio
b. Variable interval
c. Fixed interval
d. Fixed ratio
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B5-Q3
A sea lion is given a treat after an average of 3 minutes remaining on a mat to improve
veterinary care. On which schedule of reinforcement is the sea lion?
a. Variable interval
b. Tandem
c. Extinction
d. Fixed ratio

B5-Q4
Slot machines are an example of what type of schedule of reinforcement?
a. Fixed interval
b. Extinction
c. Variable ratio
d. Social

B5-Q5
A math teacher lets the class have a break after they complete 5 class-wide questions or 15
minutes have passed, whichever comes first. This is what kind of reinforcement schedule?
a. Fixed ratio
b. Alternative
c. Chained
d. Progressive

B5-Q6
Chained, mixed, and tandem are all types of what schedule of reinforcement?
a. Motivating
b. Singular
c. Compound
d. Variable ratio

B5-Q7
Which schedule of reinforcement has two or more contingencies acting simultaneously or
independently for two or more behaviors?
a. Alternative
b. Chained
c. Progressive
d. Concurrent

B5-Q8
Ellie gets to put a sticker on her potty chart after she uses the restroom at least 3 times during
the day and stays dry for at least 5 hours. Identify the schedule of reinforcement in effect.
a. Conjunctive
b. Fixed interval
c. Fixed ratio
d. Alternative
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B5-Q9
What schedule involves withholding reinforcement in the presence of a particular behavior with
the goal of eliminating the behavior altogether?
Multiple
Extinction
Conjunctive
Mixed

Qo oo

B5-Q10

When you bake brownies, you must complete the steps in order and be successful in doing
them in order to be able to eat them at the end. This demonstrates which schedule of reinforcement?
Fixed interval
Chained
Fixed ratio
Compound

Qo oo

B5-Q11
A researcher is running an experiment on the effect of a randomly implemented FR3/VR7
schedule of reinforcement on a rat’s lever-pushing behavior. What type of schedule is this?
a. Progressive
b. Extinction
c. Mixed
d. Unconditioned

B5-Q12
A doctor is on call for the weekend and is on two unique reinforcement schedules based on
location (home vs. work). Which schedule of reinforcement is the doctor on?
a. Tandem
b. Multiple
c. Chained
d. Variable ratio

B5-Q13
Under which schedule of reinforcement is reinforcement thinned systematically after each
presentation of reinforcement regardless of the individual's response(s) / behavior(s)?
a. Discriminative
b. Progressive
c. Chained
d. Concurrent

B5-Q14
In the movie Gravity, Sandra Bullock completes a variety of tasks to get to safety without
knowing if or when she will make it to safety. This follows which schedule of reinforcement?
a. Discriminative
b. Tandem
c. Conjunctive
d. Chained
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B5-Q15
Which type of reinforcement schedule involves a "signal" that a particular schedule is in effect?
a. Fixed
b. Nondiscriminative
c. Variable
d. Discriminative

B5-Q16
If researchers keep the schedule of reinforcement that is currently in effect a secret (i.e. there
is no "signal"), which type of schedule are they using?
a. Ratio
b. Discriminative
c. Nondiscriminative
d. Interval

B6-Q1
The addition of a stimulus which decreases the likelihood that a behavior will occur again in the
future is known as...
a. Negative reinforcement
b. Negative punishment
c. Positive reinforcement
d. Positive punishment

B6-Q2
Sally's mom grounds her from going to a party due to her skipping class. Getting grounded is a
form of what?
a. Negative reinforcement
b. Negative punishment
c. Positive reinforcement
d. Positive punishment

B7-Q1
If reinforcement is not mediated by another person then it is what type of reinforcement?
a. Socially mediated
b. Automatic
c. Discriminative
d. Nondiscriminative
B7-Q2

If reinforcement is mediated by another person then it is what type of reinforcement?
a. Socially mediated
b. Automatic
c. Discriminative
d. Nondiscriminative
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Food, water, and sleep are all examples of what?
Automatic reinforcers

Socially mediated reinforcers

Conditioned reinforcers

Unconditioned reinforcers

Qo oo

B8-Q2
Miranda finds reading a book relaxing. She has learned that over time. What category do
books fit in for her?
a. Unconditioned reinforcer
b. Conditioned reinforcer
c. Generalized reinforcer
d. Social reinforcer

B8-Q3
Money has become a reinforcer in society. It has a history of being paired with food, water, fun
activities, gifts, and more. Itis a..
a. Generalized reinforcer
b. Unconditioned reinforcer
c. Socially mediated reinforcer
d. Conditioned reinforcer
B8-Q4
Titus gets stung by a bee while playing in a field. He is less likely to play in that field now. The
pain from getting stung is a(n)...
a. Unconditioned reinforcer
b. Conditioned reinforcer
c. Unconditioned punisher
d. Conditioned punisher

B8-Q5
A stimulus that acts as punishment because of an individual's learning history is a what?
a. Unconditioned punisher
b. Conditioned punisher
c. Automatic punisher
d. Generalized punisher

B8-Q6
When Kayla was in first grade, she disliked the behavior management "stoplight" in the

classroom because it was paired with loss of recess, notes home, and other consequences. The
stoplight served as a(n)...

a. Unconditioned punisher

b. Conditioned punisher

c. Automatic punisher

d. Generalized punisher
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B9-Q1
Which process decreases a behavior entirely by withholding reinforcement in the presence of
that behavior?
a. Operant extinction
b. Automatic extinction
c. Generalized extinction
d. Respondent extinction

B10-Q1
What occurs when a response is affected by the presence or absence of a stimulus?
a. Stimulus control
b. Response control
c. Functional relation
d. Motivating relation

B11-Q1
Kennedy can identify the color orange when presented with an array of ten colors. She has
demonstrated...
a. Discrimination
b. Discernment
c. Decipherment
d. Decryption

B11-Q2
Bobby learned how to use a cash register at his first job. He continues to be able to use the
cash register at his second one. What is this an example of?
a. Stimulus control
b. Generalization
c. Discrimination
d. Reinforcement

B11-Q3
When researchers come back and check whether the effect on the dependent variable has
lasted even after an intervention is withdrawn, they are assessing:
a. Continuance
b. Maintenance
c. Multiple exemplars
d. Motivation

B12-Q1
Level of thirst will increase or decrease the effectiveness of water as a reinforcer; therefore,
thirst is an example of a what?
a. Discriminative stimulus
b. Motivating operation
c. Contingency
d. Continuous behavior
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B12-Q2
Feeling lonely will increase the effectiveness of social interactions as a reinforcer. Feeling
lonely is an example of a(n)...
a. Reinforcing operation
b. Establishing operation
c. Increasing operation
d. Abolishing operation

B-12Q3
Dale ate several bags of mini M&Ms before a trivia night. M&Ms will no longer be as effective
of a reinforcer for him. In this instance, feeling full is a(n)...
a. Abolishing operation
b. Establishing operation
c. Punishing operation
d. Functional operation

B12-Q4
Sleep, pain, food, and water are all examples of what?
a. CMO
b. AO
c. UMO
d. EO

B12-Q5
This is a type of motivating operation with a value-altering effect that occurs because of a
learning history:
a. UMO
b. EO
c. CMO
d. AO

B12-Q6
Your toilet will not flush which makes finding a plunger more reinforcing. Which option best
describes this scenario?
a. SD
b. CMO-T
c. FR1
d. AO

B12-Q7
Seeing the temperature on your weather app alters the reinforcing value of different types of
clothing. This demonstrates...
a. CMO-S
b. EO
c. UMO
d. VR1
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B12-Q8
Which option best describes the following scenario: My cat hides away when he sees the pet
carrier come out because he associates it with going to the vet.
a. AO
b. Punishment
c. CMO-R
d. CMO-T

B13-Q1
You have been taught that if you steal a cute pair of shoes from your favorite store, you will be
faced with jail time and/or a fine. What is this called?
a. Contingency-shaped behavior
b. Motivating operation
c. Derived stimulus relation
d. Rule-governed behavior

B13-Q2
As a toddler, you poked an ant hill. You then received a painful bite from one of the ants. You
now no longer poke ant hills. What is this called?
a. Contingency-shaped behavior
b. Motivating operation
c. Derived stimulus relation
d. Rule-governed behavior

B14-Q1
Units of verbal behavior which functionally relate responses to the variables that control them
are known as...
a. Verbal operants
b. Operational definitions
c. Motivating operations
d. Consequence operants

B14-Q2
This is any behavior that is reinforced by another individual's behavior.
a. Rule-governed behavior
b. Verbal behavior
c. Behavioral consequences
d. Positive reinforcement

B14-Q3
"What time is the movie?" is an example of a for information.
a. Function
b. Transcription
c. Tact
d. Mand
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B14-Q4
A child is looking out the window of a vehicle and says, "There is the St. Louis Arch!" Their
mother then says, "Sure is." Which verbal operant is demonstrated?
a. Echoic
b. Tact
c. Textual
d. Mand

B14-Q5
| sing, "Mary had a..." and my daughter finishes with, "Little lamb." This would be an example
of:
a. Intraverbal
b. Echoic
c. Transitivity
d. Copying a text

B14-Q6
A speech-language pathologist tells a learner, "Show me the dog." The learner says, "Show
me the dog." Which of the following verbal operants has occurred?
a. Tact
b. Transcription
c. Echoic
d. Intraverbal

B14-Q7
A professor asks a student in the front row to read a particular paragraph from the textbook.
The student does as requested. The student has engaged in what type of behavior?
a. Intraverbal
b. Textual
c. Copying a text
d. Transcription

B14-Q8
A kindergarten teacher has her students complete weekly spelling tests in which she reads
aloud a set of words and has the students write down what they hear. Which verbal operant is this?
a. Transcription
b. Mand
c. Copying a text
d. Tact

B14-Q9
What is a type of echoic behavior that involves writing down what is read?
a. Copying a text
b. Stimulus relation
c. Functional equivalence
d. Intraverbal
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B15-Q1
Transitivity, symmetry, and reflexivity are all examples of what?
a. Stimulus classes
b. Verbal operants
c. Response classes
d. Derived stimulus relations

B15-Q2
Correctly responding to stimulus-stimulus relations that have not been trained or reinforced is
known as

Echoing
Latency
Reversal design
Equivalence

Qo oo

B15-Q3
lan is taught to match a picture of a German shepherd to the word "dog". He then is taught to

match the word "dog" to a picture of a pug. lan then successfully matches the pictures of both breeds
together without any teaching. What is this called?

a. Reflexivity

b. Symmetry

c. Transitivity

d. None of the above

B15-Q4
A preschool-aged child has duplicated number flashcards laid out in front of them. They start

matching them together even though they have never been taught how to do this. This child has
demonstrated...

a. Reflexivity

b. Symmetry

c. Transitivity

d. None of the above

B15-Q5
A kindergarten student is taught to match the numerical form of "1" with the word "one". Later
in the day, they match the word "one" with the numerical "1". They have engaged in
a. Reflexivity
b. Symmetry
c. Transitivity
d. None of the above
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Name:

Date:

Mock Questions Studying Data Sheets: Section B

Code Question Answer Answer | Correct | Incorrect | Other Notes
(Written) (Letter)

A dog is a living organism. If it gets fleas, it

B1-Q1 [ scratches itself. Scratching alters the behavior D
environment the dog lives in. Scratching is
a(n)...
A specific occurrence of a behavior is known

B1-Q2 | as a what? response B
Ripping up paper to avoid working on

B1-Q3 [ homework and laying on the ground to avoid | response class C
working on homework are part of the same:
A change in energy which has an effect on

B2-Q1 | one or more of the senses of a living stimulus D
creature is known as a what?
Knives, forks, and spoons all share the

B2-Q2 | commonality of moving food around. stimulus class A
Utensils would be a

B3-Q1 | Pavlov's dogs salivating at the sound of a respondent A
bell demonstrates what type of conditioning? conditioning
Brian is working to increase his number of

B3-Q2 | steps he takes each day. His wife rewards operant A
him with a piece of chocolate after every conditioning
10,000 steps. This demonstrates...
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Name: Date:
Mock Questions Studying Data Sheets: Section B
Code Question Answer Answer | Correct | Incorrect | Other Notes
(Written) (Letter)

Giving your dog a treat to increase the .

B4-Q1 frequency that he will urinate outside is an . positive B
example of what? reinforcement
| have a headache, so | take a pain reliever.
The headache goes away. In the future, | negative

B4-Q2 | am more likely to take a pain reliever again reinforcement D
when | feel a headache. What does the pain
reliever serve as?
Every two weeks, Suzanne receives a

B5-Q1 | paycheck for the work she does at her fixed interval D
company. This is an example of what
schedule of reinforcement?
Jeanie gives her daughter $10 for every 10

B5-Q2 | times that she does the dishes. What fixed ratio D
schedule of reinforcement is this?
A sea lion is given a treat after an average

B5-Q3 | of 3 minutes remaining on a mat to improve variable interval A
veterinary care. On which schedule of
reinforcement is the sea lion?
Slot machines are an example of what type . _

B5-Q4 | of schedule of reinforcement? variable ratio C
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Name:

Date:

Mock Questions Studying Data Sheets: Section B

Code

Question

Answer
(Written)

Answer
(Letter)

Correct

Incorrect

Other Notes

B5-Q5

A math teacher lets the class have a break
after they complete 5 class-wide questions
or 15 minutes have passed, whichever
comes first. This is what kind of
reinforcement schedule?

alternative

B5-Q6

Chained, mixed, and tandem are all types of
what schedule of reinforcement?

compound

B5-Q7

Which schedule of reinforcement has two or
more contingencies acting simultaneously or
independently for two or more behaviors?

concurrent

B5-Q8

Ellie gets to put a sticker on her potty chart
after she uses the restroom at least 3 times
during the day and stays dry for at least 5
hours. Identify the schedule of reinforcement
in effect.

conjunctive

B5-Q9

What schedule involves withholding
reinforcement in the presence of a particular
behavior with the goal of eliminating the
behavior altogether?

extinction

B5-Q10

When you bake brownies, you must
complete the steps in order and be
successful in doing them in order to be able
to eat them at the end. This demonstrates
which schedule of reinforcement?

chained
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Name:

Date:

Mock Questions Studying Data Sheets: Section B

Code

Question

Answer
(Written)

Answer
(Letter)

Correct

Incorrect

Other Notes

B5-Q11

A researcher is running an experiment on
the effect of a randomly implemented
FR3/VRY7 schedule of reinforcement on a
rat’s lever-pushing behavior. What type of
schedule is this?

mixed

B5-Q12

A doctor is on call for the weekend and is on
two unique reinforcement schedules based
on location (home vs. work). Which
schedule of reinforcement is the doctor on?

multiple

B5-Q13

Under which schedule of reinforcement is
reinforcement thinned systematically after
each presentation of reinforcement
regardless of the individual's response(s) /
behavior(s)?

progressive

B5-Q14

In the movie Gravity, Sandra Bullock
completes a variety of tasks to get to safety
without knowing if or when she will make it
to safety. This follows which schedule of
reinforcement?

tandem

B5-Q15

Which type of reinforcement schedule
involves a "signal" that a particular schedule
is in effect?

discriminative
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Name:

Date:

Mock Questions Studying Data Sheets: Section B

Code Question Answer Answer | Correct | Incorrect | Other Notes
(Written) (Letter)

If researchers keep the schedule of

B5-Q16 [ reinforcement that is currently in effect a nondiscriminative C
secret (i.e. there is no "signal"), which type
of schedule are they using?
The addition of a stimulus which decreases ositive

B6-Q1 | the likelihood that a behavior will occur u%ishment D
again in the future is known as... P
Sally's mom grounds her from going to a ,

B6-Q2 | party due to her skipping class. Getting negative B
grounded is a form of what? punishment
If reinforcement is not mediated by another .

B7-Q1 person then it is what type of reinforcement? automatic B
If reinforcement is mediated by another . ,

Br-Q2 person then it is what type of reinforcement? socially mediated A

BS-Q1 Food, water, and sleep are all examples of unconditioned D
what? reinforcers
Miranda finds reading a book relaxing. She conditioned

B8-Q2 [ has learned that over time. What category reinforcer B
do books fit in for her?
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Name:

Date:

Mock Questions Studying Data Sheets: Section B

Code Question Answer Answer | Correct | Incorrect | Other Notes
(Written) (Letter)
Money has become a reinforcer in society. It eneralized
B8-Q3 | has a history of being paired with food, gen A
N, . : reinforcer
water, fun activities, gifts, and more. ltis a..
Titus gets stung by a bee while playing in a "
B8-Q4 |field. He is less likely to play in that field unconditioned c
: : : punisher
now. The pain from getting stung is a(n)...
BS-Q5 A stimulus that acts as punishment because conditioned B
of an individual's learning history is a what? punisher
When Kayla was in first grade, she disliked
the behavior management "stoplight" in the
B8-Q6 | classroom because it was paired with loss of generalized D
recess, notes home, and other punisher
consequences. The stoplight served as
a(n)...
Which process decreases a behavior
B9-Q1 | entirely by withholding reinforcement in the operant extinction A
presence of that behavior?
B10-Q1 What occurs when a response is affected by stimulus control A
the presence or absence of a stimulus?
Kennedy can identify the color orange when
B11-Q1 | presented with an array of ten colors. She discrimination A
has demonstrated...
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Name:

Date:

Mock Questions Studying Data Sheets: Section B

a learning history:

Code Question Answer Answer | Correct | Incorrect | Other Notes
(Written) (Letter)

Bobby learned how to use a cash register at

B11-Q2 | his first job. He continues to be able to use generalization B
the cash register at his second one. What is
this an example of?
When researchers come back and check
whether the effect on the dependent

B11-Q3 | variable has lasted even after an maintenance B
intervention is withdrawn, they are
assessing:
Level of thirst will increase or decrease the motivatin

B12-Q1 | effectiveness of water as a reinforcer; o eratior? B
therefore, thirst is an example of a what? P
Feeling lonely will increase the effectiveness establishin

B12-Q2 | of social interactions as a reinforcer. Feeling ning B

. operation

lonely is an example of a(n)...
Dale ate several bags of mini M&Ms before

B12-Q3 | @ trivia night. M&Ms will no longer be as abolishing A
effective of a reinforcer for him. In this operation
instance, feeling full is a(n)...

B12-Q4 Sleep, pain, food, and water are all UMO c
examples of what?
This is a type of motivating operation with a

B12-Q5 | value-altering effect that occurs because of CMO C
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Name: Date:
Mock Questions Studying Data Sheets: Section B
Code Question Answer Answer | Correct | Incorrect | Other Notes
(Written) (Letter)

Your toilet will not flush which makes finding

B12-Q6 | a plunger more reinforcing. Which option CMO-T B
best describes this scenario?
Seeing the temperature on your weather

B12-Q7 | app alters the reinforcing value of different CMO-S A
types of clothing. This demonstrates...
Which option best describes the following

B12-Qg | Scenario: M_y cat hides away when he sees CMO-R C
the pet carrier come out because he
associates it with going to the vet.
You have been taught that if you steal a cute

B13-Q1 pair of shoes from your favorite store, you rule-governed D
will be faced with jail time and/or a fine. behavior
What is this called?
As a toddler, you poked an ant hill. You then

B13-Q2 received a painful bite from one of the ants. contingency- A
You now no longer poke ant hills. What is shaped behavior
this called?
Units of verbal behavior which functionally

B14-Q1 | relate responses to the variables that control | verbal operants A
them are known as...

B14-Q2 This is any behavior that is reinforced by verbal behavior B

another individual's behavior.
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Name: Date:
Mock Questions Studying Data Sheets: Section B
Code Question Answer Answer | Correct | Incorrect | Other Notes
(Written) (Letter)
" H H H f)u H
B14-Q3 What time is the movie?" is an example of mand D
a for information.
A child is looking out the window of a vehicle
and says, "There is the St. Louis Arch!"
B14-Q4 Their mother then says, "Sure is." Which tact B
verbal operant is demonstrated?
| sing, "Mary had a..." and my daughter
B14-Q5 | finishes with, "Little lamb." This would be an intraverbal A
example of:
A speech-language pathologist tells a
learner, "Show me the dog." The learner .
B14-Q6 says, "Show me the dog." Which of the echoic C
following verbal operants has occurred?
A professor asks a student in the front row
to read a particular paragraph from the
B14-Q7 | textbook. The student does as requested. textual B
The student has engaged in what type of
behavior?
A kindergarten teacher has her students
complete weekly spelling tests in which she
B14-Q8 | reads aloud a set of words and has the transcription A

students write down what they hear. Which
verbal operant is this?
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Name: Date:
Mock Questions Studying Data Sheets: Section B
Code Question Answer Answer | Correct | Incorrect | Other Notes
(Written) (Letter)

What is a type of echoic behavior that ,

B14-Q9 involves writing down what is read? copying a text A
Transitivity, symmetry, and reflexivity are all derived stimulus

B15-Q1 ) D
examples of what? relations
Correctly responding to stimulus-stimulus

B15-Q2 | relations that have not been trained or equivalence D
reinforced is known as
lan is taught to match a picture of a German
shepherd to the word "dog". He then is

) taught to match the word "dog" to a picture e

B15-Q3 of a pug. lan then successfully matches the transitivity C
pictures of both breeds together without any
teaching. What is this called?
A preschool-aged child has duplicated
number flashcards laid out in front of them.

B15-Q4 | They start matching them together even reflexivity A
though they have never been taught how to
do this. This child has demonstrated...
A kindergarten student is taught to match
the numerical form of "1" with the word

B15-Q5 | "one". Later in the day, they match the word symmetry B

"one" with the numerical "1". They have
engaged in
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A dog is a living organism. If it
gets fleas, it scratches itself.
Scratching alters the environment
the dog lives in. Scratching is a(n)...

A. punisher

B. generalizer

C. response class
D. behavior

Ripping up paper to avoid
working on homework and laying
on the ground to avoid working
on homework are part of the

same:

AUDayABA

A. stimulus class

B. reinforcement class
C. response class

D. punishment class

A specific occurrence of a

behavior is known as a what?

A. reinforcer
B. response
C. consequence
D. punisher

A change in energy which has

an effect on one or more of the
senses of a living creature is
known as a what?

AUDayABA

A. response
B. behavior
C. motivator
D. stimulus




B-3 Question 1

Knives, forks, and spoons all
share the commonality of moving
food around. Utensils would be a

Pavlov's dogs salivating at the
sound of a bell demonstrates
what type of conditioning?

A. stimulus class
B. motivating operation
C. response class

D. conditioned reinforcer

A. respondent conditioning

B. neutral conditioning

C. operant conditioning

D. transformative conditioning

Brian is working to increase his
number of steps he takes each
day. His wife rewards him with a
piece of chocolate after every
10,000 steps. This demonstrates...

Giving your dog a treat to
increase the frequency that he
will urinate outside is an example
of what?

A. positive punishment
B. positive reinforcement
C. negative punishment
D. negative reinforcement

A. operant conditioning
B. respondent conditioning
C. unconditioned stimuli

D. conditioned punishment




I have a headache, so | take a Every two weeks, Suzanne
pain reliever. The headache goes receives a paycheck for the work
away. In the future, | am more she does at her company. This is
likely to take a pain reliever an example of what schedule of
again when | feel a headache. reinforcement?

What does the pain reliever serve

as? A. Fixed ratio

A. positive punishment B. Concurrent

B. positive reinforcement C. Progressive
C. negative punishment D. Fixed interval
D. negative reinforcement

Jeanie gives her daughter $10 A sea lion is given a treat after
for every 10 times that she does an average of 3 minutes

the dishes. What schedule of remaining on a mat to improve
reinforcement is this? veterinary care. On which
schedule of reinforcement is the

A. variable ratio sea lion?
B. variable interval A. variable interval
C. fixed interval B. tandem
D. fixed ratio C. extinction
D. fixed ratio
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B-5 Question 4

A math teacher lets the class
have a break after they complete
5 class-wide questions or 15
minutes have passed, whichever
comes first. This is what kind of
reinforcement schedule?

Slot machines are an example
of what type of schedule of
reinforcement?

A. fixed interval
B. extinction

C. variable ratio
D. social

A. fixed ratio
B. alternative
C. chained

D. progressive

Which schedule of
reinforcement has two or more
contingencies acting
simultaneously or independently
for two or more behaviors?

Chained, mixed, and tandem
are all types of what schedule of
reinforcement?

A. motivating
B. singular

C. compound
D. variable ratio

A. alternative
B. chained

C. progressive
D. concurrent

AUDayABA AUDayABA




Ellie gets to put a sticker on
her potty chart after she uses the
restroom at least 3 times during
the day and stays dry for at least
5 hours. Identify the schedule of
reinforcement in effect.

A. conjunctive
B. fixed interval
C. fixed ratio

D. alternative

When you bake brownies, you
must complete the steps in order
and be successful in doing them

in order to be able to eat them at
the end. This demonstrates which
schedule of reinforcement?

A. fixed interval
B. chained

C. fixed ratio
D. compound

AUDayABA

What schedule involves
withholding reinforcement in the
presence of a particular behavior
with the goal of eliminating the
behavior altogether?

A. multiple
B. extinction
C. conjunctive
D. mixed

B-5 Question 11

A researcher is running an
experiment on the effect of a
randomly implemented FR3/VR7
schedule of reinforcement on a
rat’s lever-pushing behavior.
What type of schedule is this?

A. progressive

B. extinction

C. mixed

D. unconditioned

AUDayABA
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A doctor is on call for the
weekend and is on two unique
reinforcement schedules based on
location (home vs. work). Which
schedule of reinforcement is the
doctor on?

A. tandem
B. multiple
C. chained
D. variable ratio

In the movie Gravity, Sandra
Bullock completes a variety of
tasks to get to safety without
knowing if or when she will make
it to safety. This follows which
schedule of reinforcement?

A. discriminative
B. tandem

C. conjunctive

D. chained

AUDayABA

Under which schedule of
reinforcement is reinforcement
thinned systematically after each
presentation of reinforcement
regardless of the individual's
response(s) / behavior(s)?

A. discriminative
B. progressive
C. chained

D. concurrent

Which type of reinforcement
schedule involves a "signal" that a
particular schedule is in effect?

A. fixed

B. nondiscriminative
C. variable

D. discriminative

AUDayABA




If researchers keep the
schedule of reinforcement that is
currently in effect a secret (i.e.
there is no "signal”), which type of
schedule are they using?

A. ratio
B. discriminative

C. nondiscriminative
D. interval

B-6 Question 2

Sally's mom grounds her from
going to a party due to her
skipping class. Getting grounded
is a form of what?

A. negative reinforcement
B. negative punishment
C. positive reinforcement
D. positive punishment

AUDayABA
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The addition of a stimulus
which decreases the likelihood

that a behavior will occur again
in the future is known as...

A. negative reinforcement
B. negative punishment
C. positive reinforcement
D. positive punishment

If reinforcement is not
mediated by another person then
it is what type of reinforcement?

A. socially mediated
B. automatic

C. discriminative

D. nondiscriminative

AUDayABA



If reinforcement is mediated by
another person then it is what
type of reinforcement?

A. socially mediated
B. automatic

C. discriminative

D. nondiscriminative

Miranda finds reading a book
relaxing. She has learned that
over time. What category do
books fit in for her?

A. unconditioned reinforcer
B. conditioned reinforcer

C. generalized reinforcer
D. social reinforcer

AUDayABA

Food, water, and sleep are all

examples of what?

A. automatic reinforcers

B. socially mediated reinforcers
C. conditioned reinforcers

D. unconditioned reinforcers

Money has become a
reinforcer in society. It has a
history of being paired with food,
water, fun activities, gifts, and

more. It is a...
A. generalized reinforcer

B. unconditioned reinforcer
C. socially mediated reinforcer
D. conditioned reinforcer

AUDayABA




B-8 Question 5

Titus gets stung by a bee while
playing in a field. He is less likely
to play in that field now. The pain
from getting stung is a(n)...

A stimulus that acts as
punishment because of an
individual's learning history is a
what?

A. unconditioned punisher
B. conditioned punisher
C. automatic punisher

D. generalized punisher

A. unconditioned reinforcer
B. conditioned reinforcer
C. conditioned punisher

D. unconditioned punisher

When Kayla was in first grade,
she disliked the behavior
management "stoplight” in the
classroom because it was paired
with Loss of recess, notes home,
and other consequences. The
stoplight served as a(n)...

Which process decreases a
behavior entirely by withholding
reinforcement in the presence of
that behavior?

A. operant extinction
B. automatic extinction

C. generalized extinction
D. respondent extinction

A. unconditioned punisher
B. conditioned punisher

C. automatic punisher

D. generalized punisher
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Kennedy can identify the color
What occurs when a response orange when presented with an
is affected by the presence or array of ten colors. She has
absence of a stimulus? demonstrated...

A. stimulus control A. discrimination
B. response control B. discernment
C. functional relation C. decipherment
D. motivating relation D. decryption

B°bb¥ Learneq how tf) use a When researchers come back
chh_ register at his first job. He and check whether the effect on
contlnue§ to be al?Le to use the the dependent variable has
cash rfaglst.er at his second one. lasted even after an intervention
What s this an example of? is withdrawn, they are assessing:

A. stimulus control A. continuance

B. generalization B. maintenance

C. discrimination C. multiple exemplars
D. reinforcement D. motivation
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B-12 Question 1

Feeling lonely will increase the
effectiveness of social interactions
as a reinforcer. Feeling lonely is
an example of a(n)...

Level of thirst will increase or
decrease the effectiveness of
water as a reinforcer; therefore,
thirst is an example of a what?

A. discriminative stimulus
B. motivating operation
C. contingency

D. continuous behavior

A. reinforcing operation
B. establishing operation
C. increasing operation
D. abolishing operation

Dale ate several bags of mini
M&Ms before a trivia night. M&Ms
will no longer be as effective of a
reinforcer for him. In this instance,
feeling full is a(n)...

Sleep, pain, food, and water
are all examples of a what?

A. CMO
B. AO

C. UMO
D. EO

A. abolishing operation
B. establishing operation
C. punishing operation
D. functional operation
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This is a type of motivating
operation with a value-altering
effect that occurs because of a
learning history:

A. UMO
B. EO

C. CMO
D. AO

Seeing the temperature on
your weather app alters the
reinforcing value of different
types of clothing. This
demonstrates...

A. CMO-S
B. EO

C. UMO
D. VR1

AUDayABA

Your toilet will not flush which
makes finding a plunger more
reinforcing. Which option best
describes this scenario?

A.SD
B. CMO-T
C. FR1

D. AO

B-12 Question 8

Which option best describes the
following scenario: My cat hides
away when he sees the pet carrier
come out because he associates it
with going to the vet.

A. AO

B. punishment
C. CMO-R

D. CMO-T

AUDayABA
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You have been taught that if As a toddler, you poked an
you steal a cute pair of shoes ant hill. You then received a
from your favorite store, you will painful bite from one of the ants.
be faced with jail time and/or a You now no longer poke ant hills.
fine. What is this called? What is this called?

A. contingency-shaped behavior A. contingency-shaped behavior
B. motivating operation B. motivating operation

C. derived stimulus relation C. derived stimulus relation

D. rule-governed behavior D. rule-governed behavior

Units of verbal behavior which
functionally relate responses to This is any behavior that is
the variables that control them reinforced by another individual's

are known as... behavior.

A. verbal operants A. rule-governed behavior
B. operational definitions B. verbal behavior

C. motivating operations C. behavioral consequences
D. consequence operants D. positive reinforcement
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A child is looking out the
window of a vehicle and says,

"There is the St. Louis Arch!" Their
mother then says, "Sure is." Which
verbal operant is demonstrated?

"What time is the movie?" is an
example of a for
information.

A. function -

B. transcription A. echoic

C. tact B. tact

D. mand C. textual
D. mand

B-14 Question 5

A speech-language
pathologist tells a learner, "Show
me the dog." The learner says,
"Show me the dog." Which of the
following verbal operants has
occurred?

| sing, "Mary had a..." and my
daughter finishes with, "Little
lamb." This would be an example
of:

A. intraverbal

B. echoic

C. transitivity

D. copying a text

A. tact
B. transcription
C. echoic

D. intraverbal

AUDayABA = AlLDuyABA_ )
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A professor asks a student in A kindergarten teacher has her
the front row to read a particular students complete weekly
paragraph from the textbook. The spelling tests in which she reads
student does as requested. The aloud a set of words and has the
student has engaged in what type students write down what they
of behavior? hear. Which verbal operant is

this?

A. intraverbal
B. textual A. transcription

B. mand
C. copying a text
D. tact

C. copying a text
D. transcription

What is a type of echoic Transitivity, symmetry, and
behavior that involves writing reflexivity are all examples of
down what is read? what?

A. stimulus classes
B. verbal operants
C. response classes
D. derived stimulus relations

A. copying a text

B. stimulus relation

C. functional equivalence
D. intraverbal
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Correctly responding to
stimulus-stimulus relations that
have not been trained or
reinforced is known as

A. echoing
B. latency
C. reversal design
D. equivalence

A preschool-aged child has
duplicated number flashcards
laid out in front of them. They
start matching them together
even though they have never
been taught how to do this. This
child has demonstrated...

A. Reflexivity
B. Symmetry
C. Transitivity

D. None of the above

AUDayABA
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B-15 Question 3

lan is taught to match a
picture of a German shepherd to
the word "dog". He then is taught
to match the word "dog" to a
picture of a pug. lan then
successfully matches the pictures
of both breeds together without
any teaching. What is this called?

A. Reflexivity
B. Symmetry
C. Transitivity
D. None of the above

Copyright ©2022 AllDayABA

A kindergarten student is
taught to match the numerical
form of "1" with the word "one".
Later in the day, they match the
word "one" with the numerical "1".
They have engaged in

A. Reflexivity
B. Symmetry
C. Transitivity
D. None of the above
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